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1. Topdemsg=1] ZE{ELT [OPDEMSG=1] ZZET 3.
[op active.warp = 6] Z&f§LT [OP ACTIVEWARP = 6] Z%{59 %,
[op dbfsend = 1] ZX{ET B,
[UserLogo.bat] Z3{TLT [OP DBFSEND = 1] #5359 %,
[op cust.wp.write = 10] %Z3%{E LT [File Write Process Completely] Z5{E9 %,
[op dbf.send = 0] Z3%{EL T [OP DBF.SEND =0] ZZ{EYF %,
[op active.warp = 0] Z&f§LT [OP ACTIVEWARP = 0] Z%{59 %,
[op demsg = 0] Z3%{ELT [OP DEMSG=0] Z557 .
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.ASCII ‘ HEX ‘ Decimal | Binary | Communication

2024/11/19 15:54:39.892 [TX] - op demsg = 1<CR>
2024/11/19 15:54:39.136 [RX] - OP DEMSG = 1<CR><LF>
2824/11/19 15:54:42.791 [TX] - op active.warp = 6<CR>
2024/11/19 15:54:42.846 [RX] - OP ACTIVE.WARP = 6<CR><LF>
2824/11/19 15:54:45.799 [TX] - op dbf.send = 1<CR>

2024/11/19 15:55:31.402 [RX] - UserLogo.bmpUserLogo.bmpuse the latest file<CR><LF>
@.open file = 399488<CR><LF>

Write File to VDO, Ack Block Num = @<CR><LF>

VDO BD Open File DbD_EB.bin Done.<CR><LF>

Transfer to VDO: (488571)<CR><LF>

TFTP Transfer Done: (4@6448)<CR><LF)]

OP DBF.SEND = 1<CR><LF>

2024/11/19 15:56:38.322 [TX] - op cust.wp.write = 18<CR>

2024/11/19 15:56:38.372 [RX] - OP CUST.WP.WRITE = 1@<CR><LF>
.......................................................... [VDO] Heartbeat timeout!<CR><LF>
[VDO] ### Chane state from 5 to 6<CR><LF>

.[VDO] ### Chane state from 6 to 7<CR><LF>

[vDO] ### Chane state from 7 to B<CR><LF>

[VDO] ### Chane state from 8 to 3<CR><LF>

#i## Chane state from 3 to 4<CR><LF>
[vDO] #i## Chane state from 4 to 5<CR><LF>

[SYS] Tx Packet ID(dfh) CLS-Cmd(6@h-38h) Over TTL<CR><LF>

File Write Process Completely.<CR><LF>

2024/11/19 16:09:24.0831 [TX] - op dbf.send = @<CR>
2824/11/19 16:09:24.888 [RX] - OP DBF.SEND = @<CR><LF>
2024/11/19 16:89:26.235 [TX] - op active.warp = @<CR>
2824/11/19 16:09:26.298 [RX] - OP ACTIVE.WARP = @<CR><LF>

2024/11/19 16:09:28.858 [TX] - op demsg = @<CR>

2024/11/19 16:09:28.100 [RX] - OP DEMSG = O<CR><LF>
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